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1. Looking grown up but behaving like a child is

termed as :

(A) Locomotor Disability

(B) Visual Disability

(C) Hearing Impairment

(D) Intellectual Disability

2. Special school is a typical example of :

(A) Integration

(B) Inclusion

(C) Segregation

(D) Mainstreaming

3. Rights of Persons with Disabilities Act was

implemented in the year :

(A) 2016

(B) 2017

(C) 2018

(D) 2019

4. How many disabilities are included in RPD

Act-2016?

(A) 4

(B) 7

(C) 16

(D) 21

5. National Institute for the Empowerment of

Persons with Intellectual Disabilities is situated

in :

(A) Hyderabad

(B) Mumbai

(C) Delhi

(D) Dehradun

1.

(A)

(B)

(C)

(D)

2.

(A)

(B)

(C)

(D)

3.

(A) 2016

(B) 2017

(C) 2018

(D) 2019

4.

(A) 4

(B) 7

(C) 16

(D) 21

5.

(A)

(B)

(C)

(D)



[ SBED – 2019 ]

SET-C

4

6. Hearing can be measured by :

(A) Meter

(B) Decibel

(C) Ton

(D) Liter

7. Special Education is :

(A) A part of general education process

(B) Instructions specifically designed to meet

the individual needs of children with

disabilities

(C) A place and not for service

(D) None of the above

8. Special Education services are delivered by :

(A) Special Educators

(B) Local Medical Centre Staff

(C) Related Service Providers

(D) General Educators

9. We celebrates International day of Disabled

on :

(A) 4th January

(B) 15th October

(C) 3rd December

(D) 25th December

10. Total communication involves :

(A) Single Modality

(B) Dual Modality

(C) All Modality

(D) No Modality

6.

(A)

(B)

(C)

(D)

7.

(A)

(B)

(C)

(D)

8.

(A)

(B)

(C)

(D)

9.

(A)

(B)

(C)

(D)

10.

(A)

(B)

(C)

(D)
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11. Hearing is measured by :

(A) Special Educator

(B) Speech Therapist

(C) Audiologist

(D) Psychologist

12. Inclusive school means :

(A) School for the Disabled only

(B) School for the Sighted only

(C) School for the Disabled and None disabled

children

(D) None of the above

13. A normal person have ____ senses.

(A) 3

(B) 4

(C) 5

(D) 6

14. A normal person have visual acuity of :

(A) 20/200 feet

(B) 20/70 feet

(C) 20/20 feet

(D) 20/10 feet

15. First school for the blind was start in India in the

year :

(A) 1830

(B) 1845

(C) 1857

(D) 1887

5

11.

(A)

(B)

(C)

(D)

12.

(A)

(B)

(C)

(D)

13.

(A)

(B)

(C)

(D)

14.

(A)

(B)

(C)

(D)

15.

(A) 1830

(B) 1845

(C) 1857

(D) 1887
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16. ____ is the mobility device for the blind :

(A) Abacus

(B) Taylor Frame

(C) Braille

(D) White Cane

17. Autistic persons may have problem/s in :

(A) Social Interaction

(B) Communication

(C) Patterns of Behaviour

(D) All of the above

18. Physically Handicapped persons having major

problem in :

(A) Communication

(B) Mobility

(C) Academic

(D) Social

19. _____ is a hidden disability.

(A) Visual Impairment

(B) Intellectual Disability

(C) Hearing Impairment

(D) Learning Disability

20. B. Ed. Special Education programme is

standardized by :

(A) RCI

(B) UGC

(C) MHRD

(D) MSJE

16.

(A)

(B)

(C)

(D)

17.

(A)

(B)

(C)

(D)

18.

(A)

(B)

(C)

(D)

19.

(A)

(B)

(C)

(D)

20.

(A)

(B)

(C)

(D)
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21. World Population Day in celebrated on :

(A) 11 July

(B) 8 May

(C) 16 October

(D) 5 June

22. Who wrote the book 'A Brief History of Time'?

(A) Stefan Hawkins

(B) J. B. Narlikar

(C) C. V. Raman

(D) S. Bose

23. Most stable Ecosystem is of :

(A) Oceanic

(B) Forest

(C) Hilly

(D) Desert

24. President of India is Elected by :

(A) Lok sabha

(B) Rajya Sabha

(C) Member of Parliament

(D) Member of Parliament & State Legislative

Assemblies

25. International 'Yoga Day' is celebrated on :

(A) 2 April

(B) 21 June

(C) 21 May

(D) 5 June

21.

(A)

(B)

(C)

(D)

22.

(A)

(B)

(C)

(D)

23.

(A)

(B)

(C)

(D)

24.

(A)

(B)

(C)

(D)

25.

(A)

(B)

(C)

(D)

7
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26.

(A)

(B)

(C)

(D)

27.

(A) 78.084

(B) 20.947

(C) 87.84

(D) 4.92

28.

(A)

(B)

(C)

(D)

29.

(A)

(B)

(C)

(D)

30.

(A)

(B)

(C)

(D)

31.

(A)

(B)

(C)

(D)

26. Who was first Vice Chairman of NITI Ayog?

(A) Arvind Pangaria

(B) Raghuram Rajan

(C) C. Subramanayan

(D) Rajiv Kumar

27. Percentage of Nitrogen gas in atmosphere is :

(A) 78.084

(B) 20.947

(C) 87.84

(D) 4.92

28. Source of energy in ecosystem is.

(A) Solar Radiation

(B) Cosmic Radiation

(C) Geothermal Energy

(D) All of the above

29. Which of the following is secondary pollutant?

(A) Smog

(B) Carbon dioxide

(C) Carbon monoxide

(D) Fly ash

30. Velocity of sound is maximum in :

(A) Vacuum

(B) Air

(C) Water

(D) Iron

31. What is Green House effect?

(A) Rise in global temperature

(B) Fall in global temperature

(C) Rise in temperature of occeanic water

(D) Rise in temperature of rivers & lakes

8
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32.

(A) 'A'

(B) 'C'

(C)

(D)

32. Cause of Night Blindness disease is :

(A) Deficiency of Vitamin 'A'

(B) Deficiency of Vitamin 'C'

(C) Deficiency of Protein

(D) Deficiency of fats

9

33.

(A)

(B)

(C)

(D)

34.

(A)

(B)

(C)

(D)

35.

(A)

(B)

(C)

(D)

36.

(A)

(B)

(C)

(D)

37.

(A)

(B)

(C)

(D)

38.

(A)

(B)

(C)

(D)

39. Which of the following is not prime number?

(A) 1

(B) 2

(C) 3

(D) 5

40. The greatest 5 digit number that exactly divisable

by 330 is :

(A) 99999

(B) 99330

(C) 99990

(D) 99000

39.

(A) 1

(B) 2

(C) 3

(D) 5

40.

(A) 99999

(B) 99330

(C) 99990

(D) 99000
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41. The sum of even numbers between 21 to 51 is :

(A) 518

(B) 560

(C) 540

(D) 592

42. The ratio of 32 m and 80 m is :

(A) 1 : 5

(B) 3 : 5

(C) 3 m : 5 m

(D) 2 : 5

43. The numbers 2, 4, 6, 8, ...... is set of :

(A) Natural numbers

(B) Whole numbers

(C) Even numbers

(D) Odd numbers

44. The simplest form of 
462

594
 is :

(A)
231

297
(B)

42

354

(C)
462

594
(D)

7

9

45. Synonym of optimistic is :

(A) Promising

(B) Dull

(C) Bare

(D) Simple

46. Antonym of Abundant

(A) Scarce

(B) Much

(C) Ease

(D) Lively

47. Number of vowels in English alphabet :

(A) 6

(B) 7

(C) 5

(D) 11

48. Synonym of Elaborate :

(A) short

(B) detailed

(C) gist

(D) none of these

49. Dehradun is example of :

(A) Common Noun

(B) Proper Noun

(C) Pronoun

(D) None of the above

50. Meaning of Integrity :

(A) Wholeness

(B) Unique

(C) Scattered

(D) None of the above
10

41.

(A) 518

(B) 560

(C) 540

(D) 592

42.

(A) 1 : 5

(B) 3 : 5

(C) 3 m : 5 m

(D) 2 : 5

43. 2, 4, 6, 8, ......

(A)

(B)

(C)

(D)

44.
462

594

(A)
231

297
(B)

42

354

(C)
462

594
(D)

7

9
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51.

(A)

(B)

(C)

(D)

52.

(A)

(B)

(C)

(D)

53.

(A)

(B)

(C)

(D)

54.

(A) 103

(B) 105

(C) 107

(D) 109

55.

(A)

(B)

(C)

(D)

56.

(A) B

(B) C

(C) D

(D)

51. Where is 'Central Drug Research Institute'

located?

(A) Allalabad

(B) Lucknow

(C) Delhi

(D) Pune

52. Who wrote "Anandmath"?

(A) Vidya Sagar

(B) Sharatchandra Bose

(C) Munshi Premchand

(D) Bankimchandra

53. 10th December is celebrated as :

(A) World Health Day

(B) UNO Day

(C) World Redcross Day

(D) Human Right day

54. India's ranking in Global Human Capital Index

2017 is :

(A) 103rd

(B) 105th

(C) 107th

(D) 109th

55. Urea is :

(A) A nitrogen containing organic compound

(B) A nitrogen containing inorganic compound

(C) A plant hormone

(D) An Endergonic compound

56. Which of the following pairs is not correctly

matched?

Vitamins Role

(A) Vitamin B
12

 – Antianemic factor

(B) Vitamin C   – Antiscorbutic factor

(C) Vitamin D   – Antisterility factor

(D) Vitamin K   – Antiharmorrhagic factor
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57.

(A)

(B)

(C)

(D)

58.

(A)

(B)

(C)

(D)

59.

(A)

(B)

(C)

(D)

60.

(A)

(B)

(C)

(D)

61.

(A)

(B)

(C)

(D)

57. Which of the following is the first National Park

established in India?

(A) Chandoli National Park

(B) Jim Corbett National Park

(C) Gir forest National Park

(D) Dudhwa National Park

58. The headquarters of the World Bank is located

in :

(A) New York, USA

(B) Geneva, Switzerland

(C) Washington DC, USA

(D) Paris, France

59. Nagpur is situated on the bank of which river?

(A) Godavari River

(B) Nag River

(C) Betwa

(D) Barak

60. Where is the Indian Institute of Rice Research

located?

(A) Hyderabad, Telangana

(B) Kolkata, West Bengal

(C) Mumbai, Maharashtra

(D) New Delhi, Delhi

61. In which year was Rajya Sabha constituted for

the first time?

(A) 1950

(B) 1951

(C) 1952

(D) 1953
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62. Amount of rain depends on –

(A) Air pressure

(B) Humidity in Atmosphere

(C) Water cycle

(D) Temperature

63. Which of the following is not correctly matched?

(A) World Environment Day – 5th June

(B) Earth Day – 22 April

(C) Anti-tobacco Day – 5th May

(D) Ozone Day – 16th September

64. Bhopal Gas Tragedy was caused due to the

leakage of :

(A) Methyl Isocynate

(B) Nitrozen dioxide

(C) Sulphur dioxide

(D) Carbon monoxide

65. How much CO
2
 is produced on heating of 1 kg

of carbon?

(A)
11

3
 kg

(B)
3

11
 kg

(C)
4

3
 kg

(D)
3

4
 kg

66. Which of the following fuels would produce

minimum environmental pollution?

(A) Hydrogen

(B) Diesel

(C) Kerosene

(D) Coal

62.

(A)

(B)

(C)

(D)

63.

(A)

(B)

(C)

(D)

64.

(A)

(B)

(C)

(D)

65. CO
2

(A)
11

3
 kg

(B)
3

11
 kg

(C)
4

3
 kg

(D)
3

4
 kg

66.

(A)

(B)

(C)

(D)
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67. Step up transformer are used for :

(A) increasing electrical power

(B) decreasing electrical power

(C) decreasing voltage

(D) increasing voltage

68. Which one among the following waves carries

the maximum energy per photon?

(A) X-rays

(B) Radiowaves

(C) Light waves

(D) Microwaves

69. Which amongst the following is the largest

glacier?

(A) Sasaini

(B) Gangotri

(C) Zemu

(D) Siachin

70. Which of the following institutions is/are not in

existence as on November 1, 2017?

(A) Planning Commission

(B) Forward Market Commission

(C) Foreign Investment Promotion Board

(D) All of the above

71. The National Bank for Agriculture and Rural

Development is an apex development financial

institution in India, headquartered at :

(A) Pune Maharashtra

(B) Chennai, Tamil Nadu

(C) Mumbai, Maharashtra

(D) New Delhi, Delhi

67.

(A)

(B)

(C)

(D)

68.

(A)

(B)

(C)

(D)

69.

(A)

(B)

(C)

(D)

70.

(A)

(B)

(C)

(D)

71.

(A)

(B)

(C)

(D)
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72. A mobile phone charger is :

(A) An invertor

(B) An UPS

(C) A step up transformer

(D) A step down transormer

73. Which one of the following atmospheric changes

take place due to green house effect?

(A) Increase in carbon di-oxide concentration

in atmosphere

(B) Increase in humidity in atmosphere

(C) Increase in biological population

(D) Increase in wind speed

74. Three of the following four, are alike in a certain

way and so form a group. Which is the one, that

does not belong to that group?

(A) 16

(B) 25

(C) 36

(D) 289

75. If P = ÷, Q = X, R = +, S = –, then find the

value of 18 Q 12 P4 R5 S6

(A) 97

(B) 58

(C) 66

(D) 48

72.

(A)

(B)

(C)

(D)

73.

(A)

(B)

(C)

(D)

74.

(A)

(B)

(C)

(D)

75. P = ÷, Q = X, R = +, S = –,

18 Q 12 P4 R5 S6

(A) 97

(B) 58

(C) 66

(D) 48
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76. A is the mother of B and C. If D is the husband

of C, then how is A related to D?

(A) Mother

(B) Sister

(C) Mother in law

(D) None of the above

77. What number should come is the place of '?' in

the second triangle?

(A) 15

(B) 26

(C) 27

(D) 29

78. Which of the following four answer figures has

same commonality to the following figures :

(A)    

(B)     

(C)

(D)   

76. B C A D, C

A, D

(A)

(B)

(C)

(D)

77. '?'

(A)

(B)

(C)

(D)

78.

(A)    

(B)     

(C)

(D)   
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79. Which choice provides the answer in the

following if : 2 = 5, 4 = 18, 6 = 39, 8 = 68, then

10 = ?

(A) 45

(B) 105

(C) 81

(D) 100

80. Complete the series :

K1, M3, P5, T7, ?

(A) Y9

(B) Y11

(C) V9

(D) V11

81. Choose the correct option :

Volume : litre  : :  Area : ?

(A) Hectare

(B) Degree

(C) Radian

(D) Newton

82. 'Wall' is related to 'Brick' in the same way as

'Book' is related to :

(A) Page

(B) Novel

(C) Story

(D) Author

83. Raj is older than Varun. Sam is younger than

Yash. Mohan is older than Raj but younger than

Sam. Who among them is oldest?

(A) Yash

(B) Raj

(C) Varun

(D) Sam

79.

2 = 5, 4 = 18, 6 = 39, 8 = 68, 10 = ?

(A)

(B)

(C)

(D)

80.

K1, M3, P5, T7, ?

(A) Y9

(B) Y11

(C) V9

(D) V11

81.

(A)

(B)

(C)

(D)

82.

(A)

(B)

(C)

(D)

83.

(A)

(B)

(C)

(D)
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84. In a certain code JUNGLE is written as

ITMFKD. How is NORM written in that

code?

(A) MNQL

(B) OPSN

(C) MPQN

(D) None of these

85. Rakesh introduced a girl saying, "Her mother is

the only daughter of my mother-in-law". How is

the girl related to Rakesh?

(A) Daughter

(B) Cousin

(C) Sister

(D) Wife

86. If DIAMOND is coded as VQYMKLV, how

is FEMALE coded :

(A) TUMYNU

(B) TVNYNV

(C) UVNZOV

(D) UVNYNV

87. If DELHI is coded as 73541 CALCUTTA

as 82589662 how CALICUT be coded?

(A) 5279431

(B) 5978213

(C) 8543691

(D) 8251896

84. JUNGLE ITMFKD

NORM

(A) MNQL

(B) OPSN

(C) MPQN

(D)

85.

(A)

(B)

(C)

(D)

86. DIAMOND VQYMKLV

FEMALE

(A) TUMYNU

(B) TVNYNV

(C) UVNZOV

(D) UVNYNV

87. DELHI 73541 CALCUTTA

82589662 CALICUT

(A) 5279431

(B) 5978213

(C) 8543691

(D) 8251896
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88. A man said to a women that your mother's

husband's sister is my aunt, "How the women is

related to the man?

(A) Aunt

(B) Sister

(C) Daughter

(D) Granddaughter

89. What number will come in place of '?' in the

given figure?

(A) 81

(B) 162

(C) 243

(D) 54

90. If A = 1 and AID = 36, then BELL = ?

(A) 16690

(B) 2210

(C) 1440

(D) 1210

91. In the following figure how many triangles are

there?

(A) 28

(B) 32

(C) 36

(D) 38

88.

(A)

(B)

(C)

(D)

89.

(A) 81

(B) 162

(C) 243

(D) 54

90. A = 1 AID = 36, BELL = ?

(A) 16690

(B) 2210

(C) 1440

(D) 1210

91.

(A) 28

(B) 32

(C) 36

(D) 38



[ SBED – 2019 ]

SET-C

20

92. Rani Jhansi Maritime National Park was founded

in :

(A) 1944

(B) 1995

(C) 1996

(D) 1997

93. Which of the following is not a genetic

disease?

(A) Night blindness

(B) Albinism

(C) Haemophilia

(D) Color blindness

94. The stench due to leakage from LPG cylinder

is because of :

(A) Methane

(B) Propane

(C) Butane

(D) Ethyl mercaptan

95. Which bank has been established in China by

BRICS countries?

(A) New Industrial Development Bank

(B) New Agricultural Development Bank

(C) New Development Bank

(D) New Commercial Bank

92.

(A) 1944 

(B) 1995 

(C) 1996 

(D) 1997 

93.

(A)  

(B)

(C)

(D)

94. LPG

(A)

(B)

(C)

(D)

95.

(A)

(B)

(C)

(D)
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96. Find the missing letter in the following

table :

(A) Z

(B) T

(C) L

(D) I

97. Find the odd man out :

(A) Gentle

(B) Deaf

(C) Polite

(D) Courteous

98. Which one of the following organs will not feel

any pain on being pricked by a needle?

(A) Skin

(B) Brain

(C) Heart

(D) Eye

99. Deficiency of Iodine causes :

(A) Night Blindness

(B) Cancer

(C) Goitre

(D) Osteporosis

100. The cause of sweet taste in fruits is :

(A) Maltose

(B) Ribose

(C) Lactose

(D) Fructose

96.

(A) Z

(B) T

(C) L

(D) I

97.

(A)

(B)

(C)

(D)

98.

(A)

(B)

(C)

(D)

99.

(A)

(B)

(C)

(D)

100.

(A)

(B)

(C)

(D)

21



[SPACE FOR ROUGH WORK / ]

22 [ SBED – 2019 ]

SET-C



[SPACE FOR ROUGH WORK / ]

23 [ SBED – 2019 ]

SET-C



24 [ SBED – 2019 ]

SET-C


